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debug atm event EZO| E=240{| M CtF HAIX[L] o|O|= FAUULII?
PA-A3-OC12E 0{¥ SAR 212 AIE35tE71?

Ct2 23 HAIX = 22U o0[FH L7
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Cisco 7200 2t 2E{ AIE2|Z = PA-A3-OC12E8 X[ELI7t?
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0| EMoME Cisco PA-A3-OC12 ATM Port Adapterol CH3H A& 2= E2of EHELict
.LANE(LAN Emulation) X|#d, PVC(bridged-style permanent virtual connection) X|¢(VBR-nrt]
PVCs Z &), SAR(Variable Bit Rate Non-Realtime) & 7%, ABR(Available Bit Rate) &!
UBR(Unspecified bit rate) MH|A #4F K|, CBFQ(Class-based Weighted Fair Queuing) 2! Low
Latency(Queuing) LLQ),
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Q. PA-A3-OC12& LANEZ K| EL7H?
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A. U|.Cisco IOS® Software ZZ|A 12.1(3)EE PA-A3-OC120{| A LANEO] CHEH X|2E =3
Ch EE2|A HMEE # XA,

Q. PA-A3-0C12E EE|X| AEl PVCE X[HELITH?
A. 04, Cisco 10S Software & 2|4 12.0(19)S 7|&
Q. debug atm event BE 2| E2{0i| M Ct& HAIX|2 o]0l FUULMN?

!I-—-- FEach of these timestamped lines appear on one line: Jul 4 10:34:52.597:
parse_vi p_cnb22_stat _| | (ATMb/ 0/ 0): phy statistics 0x01010254 Jul 4 10: 34:52. 925:


http://www.cisco.com/en/US/tech/tk801/tk36/technologies_tech_note09186a0080121ac5.shtml
http://www.cisco.com/en/US/docs/ios/12_1/12_1e/release/notes/7x_121e.html#xtocid1305968

parse_vi p_cnb22_alarm || (ATMb/ 0/ 0) :
parse_vi p_cnb22_alarm || (ATMb/ 0/ 0) :
parse_vi p_cnb22_alarm || (ATMb/ 0/ 0) :
parse_vi p_cnb22_alarm || (ATMb/ 0/ 0) :

A. 0|248t HIA|X|= SONET(Synchronous Optical Network) 4
BHHZ EAZE HIEHO|2Z SAlo] 048] Alm{(ZE)E LIE

state 4, ol d/ new al arns 0x0/0x1000 Jul 4 10: 34:52. 925:

al arm 0x1000 Jul 4 10: 34:52.925:

state 0, old/ new al arns 0x1000/0x0 Jul 4 10: 34:52. 925:

al arm cl ear ed

S x[Lct.

An 88 16%1= gk
a8 els 0x0
SLOS(Section Loss of Signal) 0x0001

CHHOo| Z 2| 82 2(SOOF) 0x0002
ZoY £ & & 4(SLOF) 0x0004
LAIS(Line Alarm Indication Signal) 0x0010

2tQl ¥4 ZAgt EA|(LRDI) 0x0020
PLOP(Path Loss of Pointer) 0x0100
LAIS(Path Alarm Indication Signal) 0x0200

A= ¥4 A7 EA|(PRDI) 0x0400
OCD(Out of Cell Delination) 0x1000
LCD(Cell Deletion) &4l 0x2000
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Q. PA-A3-0OC12& 0{E SAR ZI2 ArSE L7

A. PA-A3-OC12E Maker CM622 SAREZ A2 &tL|C}.show controller atm 2
o|ClE pE g

ot 7|Ef QIE{H|O|AE MEE E A|ELICHPA-A3 NMIER

LICH.

VI P- Sl ot 8# show controllers atm 0/0

Interface ATMD/0 is up

Hardware is OC 12 ATM PA - SONET OC12 (622Mops)
Lane client nac address is 0002.1783. 0900

Framer is PMC PMb355 S/ UNI - 622, rev:

16, SDH node

SAR is Maker CM622, FWRev (RX/TX): 3.2.2.3/3.2.2.3
i db=0x6087EFEQ, ds=0x60884500, franmer_cbh=0x608AA6A0
pool =0x609E4840, cache=0x60A2CB40, cache_end=2043
slot 0, unit 0, subunit 0, fci_type 0x0077

Curr Stats:

VCC count: current=3, peak=3
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RX errors:
len 0, chan_closed 9, tineout O, partial_discard O
aal 5_len0 0, host_partial _rx_discard 0
Devi ces base addresses:
rx_pl x_base = 0x50800000 tx_pl x_base = 0x54800000
rx_f pga_regs 0x50810000 tx_fpga_regs = 0x54810000
dscc4_base 0x50820000 dscc4_| ocal _base = 0x50830000
bat man_base = 0x50838000 franer_base = 0x50834000
Ri ng base addresses/head/tail (ring sizel/head/tail index):

rx_desc = 0x38265200/ 0x3826B210 (2048/1537)
t x_desc = 0x3026D240/ 0x3026FB00/ 0x3026FBCO (1024/ 652/ 664)
rx_shdw = Ox60A30B80/ 0x60A32384 (2048/1537)
t x_shdw = 0x60A32BC0/ 0x60A335F0 ( 1024/ 652)
tx_ind = 0x38271280/ 0x38280068 (16384/15226)

rx_spin_sum 83079, rx_int 57777, avg spin: 1
Control bl ocks:

vcs = Ox608AA780 (4096) vps = O0x609E2800 (256)
chids = 0x609227C0 (65536)
M sc info:

vc-per-vp: 1024, max_vc: 4096, max_vp: 15
ds->tx_count 12, ds->vp_count 1
RX SAR stats:
drop_pkts 0, unrecogni zed_cells 160200, aal 5_pkts 1165286881
TX SAR stats:
aal 5_pkts 1625602913, drop_pkts 0
Alarm 0x0

Q. ot& 23 HAIX|= X 2l0[gLnt?

2d17h: Y%ATMPA- 4- ADJUSTPEAKRATE: ATM2/ 0/ O:
Shaped peak rate adjusted to 299520

A. VBR-nrt PVCZ 7 M E 2 PA-A3-OC12E Z|CH PCR(Peak Cell Rate) £ = 299520kbps(X|<
JtsEt M £5)E XL

SARE CHE vCol HIsH UBR VVC(Virtual Channel)oll B &2 LiE @M&Q| Zhe sestLC
SARE HX{ Al 7}58 A EI £20i VBR-nrt VCO|A{ Al M'° of|FerL|Ct ™S IHIO
X =

VBR VC7} Qi7{Lt RIE{H[O]| A0l A EF L VCE %[5t E<? UBR VCOI CHaH

ANEE & &Lt

PCRC| HHZE HQ|E 37~299520KbpsO|H CI2 &2d0d| LIt & LICH.

atnm(config)# interface atm 2/0/0.1 point-to-point
atn(config-subif)# pve 5/100
atn(config-if-atm)# vbr ?

<37-299520> Peak Cell Rate (PCR) in Kbps

Q. PA-A3-OC12= ABR ATM MH|A HEE X|RELITH?

A. OlL|2. PA-A3-OC12& UBR 2! VBR-nrt 7}4F ZHE(VC)BF K| 4EfLICH.

Q. ATM B|0|o{ EiZ| M O|E2 PA-A3-OC120{l M O{EH ZSELIT?

A. PA-A3-OC12= VBR-nrt 2! UBR ATM A{H|A
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VBR-nrt VCO|M A& o eFeL|Ct.T4E |0|E{E€ 7+El VBR VC7} Q7L QIE{H| O| A0 M EFY
VCE X|stE Z2 UBRVCO CHall HA| 213 CHEZES AF2E & l&LCt

PA-A3-OC3 = PA-A3-DS31} & 2| PA-A3-OC12E VCO| 2Mz=Q| BlHlg
&l transmit priority BE S X[5t x| & &LICHSF VBR-nrt VC7t S Yt A E}
[ SAR2 & VCo| AFES TH5t04 O|F M EtY &R BHELICHO|E{E
20| ZAAL|X| ot =5 5l24H PA-A3-OC12E& SAR OO/ 2 A E v3.20{ M 2
FE4ELICH REAMIEH LI 2 Cisco 12000 SeriesO| ATM 291 FHE 0| CHSt EEHE Mool HatE
OlsH MME & EFHAAIL.

AL

VBR-nrt VC7t A Bt &R 2 M8Y EHRII 9= 39 SAR2 UBRVCOH| Bt &R S Y ELICH
MEtA UBRVCE| £ £ 7t VCO| FEE 1|3 4 £ (PCR)E =Y = R

5t24H 2t RE0|M VCE VBR-nrt2 745t 1, PCRE X% 7H58 SCR(E £5)1t S5 X
st1, vCo| HEQI3 ZZH|XM'IE UBRE ELILC}.

B1: VCO ATM MH|A HFEE S L
ATM HE LI A2{R|olM DHEE ER7t gi&
&= Cisco 10S Software &2|A0= ubr BHEE ALE5t0{ BEE0i| PCR ONVHHTE FHotE S
Mol ZAIE[X| gi&LCH 2 E UBR VCE B2l £ 2| PCRE AF&35HoF & LICHCSCdu83983(S &
El T Z48h).

Q. PA-A3-0C12& 7H4 MEZ(VCE) CBWFQ & LLQE X[ EFLI7H?

A. Cisco 10S Software Z 2|4 12.0SE= PA-A3-OC12(CSCdv67540(S & &l 1240k )0l 24+
QoS(Quality of Service)& K| & LIC.CBWFQE Cisco I0S Software 2|4 12.1(11b)EF E PA-
A3-0C1204| M X[ HEILICH Y LLQE Cisco 10S Software & 2|4 12.1(12¢)E12| PA-A3-OC 1201 A
PN b= 5

VCE RUO| 758t B2 ATM QIE{H 0|A EB}O|HH= Bil0]04 2 =904 CH7 ¥ (TS &lol2t
&ho| 715 At e JHEMLIC O™ CHE QoS AMH|A HA0| M Z|= til0]o 3 CH7Z [P A|AH
o =1 TiZlo| MEE/LICH7[EMo 2 UBR VCHE ME & AIBh(tx_limit) 2f 128712 X7t &
ElLIChVBR-nrt VCO| = CHS =410 h2F tx_limit 20| &2 ELICtH

Average rate (SCR) x 2 x TOTAL_CREDI TS / VI SI BLE_BANDW DTH

TOTAL_CREDI TS = 8192
VI SI BLE_BANDW DTH = 599040

O| =4l0| 7|27t 1282 Ct &2 tx_limit 2t 2 AHl&HsHH vC ol tx_limit7F 1282 MHELICH E= tx-
ring-limit B ALE5t04 7|22t0| ot il 2t & £ U&LIctFHE 2L2 Cisco I10S
Software2| &% BI2|A(CSCdx12328(SEE 120 ol A show atm ve ved B2 E2401 E A
ElLict.

=
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http://www.cisco.com/warp/customer/121/atmlcshaping_12141.html
http://www.cisco.com/warp/customer/121/atmlcshaping_12141.html#traffic
http://www.cisco.com/warp/customer/121/atmlcshaping_12141.html#traffic
http://www.cisco.com/warp/customer/121/atmlcshaping_12141.html
http://www.cisco.com/warp/customer/121/atmlcshaping_12141.html
http://www.cisco.com/cgi-bin/Support/Bugtool/onebug.pl?bugid=CSCdu83983
http://tools.cisco.com/RPF/register/register.do
http://tools.cisco.com/RPF/register/register.do
http://www.cisco.com/cgi-bin/Support/Bugtool/onebug.pl?bugid=CSCdv67540
http://www.cisco.com/cgi-bin/Support/Bugtool/onebug.pl?bugid=CSCdx12328
http://www.cisco.com/en/US/docs/ios/12_3t/wan/command/reference/wan_s1gt.html#wp1061700
http://www.cisco.com/en/US/docs/ios/12_3t/wan/command/reference/wan_s1gt.html#wp1061700

M S£E(SCR)ZECH UM UH 22 M VCHlM £33 T3] MK E B7HAIZI= A< show interface
atm slot/port-adapteriport B 2| 042 £ 2 Z§Xx{5t04 EEH=l 2| Cisco I10S Software A& F=2
E ZAMELICAMIE B4 sHE B2 ATM 22 E QIE{Ho|A 0| £33 M| BA HES &= 5t4

AR,

PA-A3-OC12= show atm pvc vpi/vei 20| A F QIE{TH| 0| A 04| A 2 4&F Cisco Express
Forwarding(DCEF)O| & A&} &l 732 InpktDrops 7+2E{Q| Zt0| £7}& # Ql&LICh ol 2X
5| 7t 2E E2M0|H HaXel EpfEl 5 Foi| &2 0|X|X| & LICHCSCdw78297(SS &l 1 ZHbt
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Q. Cisco 7200 2}E| A|2ZI=& PA-A3-OC12E X|&ELI7?

A OofL|2.

Q. PVCE F#d#t ¥ 2tElE Ctg 21 HAIX|E ET#LICHLF & £0|E?

!--- This configuration was performed: 7500-11(config-if)# pve 25/100
7500-11(config-if-atmvc)# ubr 21000
7500-11(config-if-atmvc)# exit

!-—— Each of these timestamped lines appears on one line: 06:05:02: Y%ATMPA- 3- SETUPVCFAI LURE:
ATMD/ 0/ 0: Platform Setup_vc failed for 25/100, vcd 3689 06: 05: 04: YATMPA- 3- SETUPVCFAI LURE:
ATMD/ 0/ 0: Platform Setup_vc failed for 25/100, vcd 3690

A. RSP(Route/Switch Processor), VIP(Versatile Interface Processor) & PA-A3-OC12 W& M| A|X|
of §35t= Z2M|AZ VC(Virtual Channel) 88 & &dfl, =2|X 2i|0jo SH =&, 32 44 8
9| 7|58 Y& LICI.CSCdv12409(SEE! 1240t sHE)(CSCdu61631(SSE T 2Bt 51{H)0d| 9

ol SX)= PA-A3-OC12 =200 O|al| VPI(7tef A2 Al9EX}) gHo| FotE| T S E|= B A] Y

E0VC MM @77t HMetE EF T2 AR LICEO| & 0| HUstH EHREM AZEQ

o ZX S==2 el vIP S8 X EtRE7 CHA| ZEE £ &L

el HE

. Cisco ATM ZE o{EiH
. ATM(Asynchronous Transfer Mode) x| H| 0| X|
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http://www.cisco.com/warp/customer/121/atmdrops2.html
http://www.cisco.com/cgi-bin/Support/Bugtool/onebug.pl?bugid=CSCdw78297
http://tools.cisco.com/RPF/register/register.do
http://www.cisco.com/warp/customer/121/inputdrops.html
http://www.cisco.com/cgi-bin/Support/Bugtool/onebug.pl?bugid=CSCdv12409
http://www.cisco.com/cgi-bin/Support/Bugtool/onebug.pl?bugid=CSCdu61631
http://tools.cisco.com/RPF/register/register.do
http://tools.cisco.com/RPF/register/register.do
http://tools.cisco.com/RPF/register/register.do
http://www.cisco.com/en/US/products/hw/modules/ps2033/ps66/index.html?referring_site=bodynav
http://www.cisco.com/web/psa/technologies/index.html?c=268435599&referring_site=bodynav
http://www.cisco.com/en/US/customer/support/index.html?referring_site=bodynav
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